
Q.1 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.
Statements:
I. No A is F.
II. Some A are J.
Conclusions:
I. No F is J.
II. No F is A.
III. Some J are not F.

Ans 1. Both conclusions I and III follows

2. Both conclusions II and III follows

3. All conclusion follows

4. Only conclusion II follows

Question ID : 630680387208

Option 1 ID : 6306801509527

Option 2 ID : 6306801509528

Option 3 ID : 6306801509529

Option 4 ID : 6306801509526

Status : Answered

Chosen Option : 1

Q.2 In the following question, four letter pairs are given. The letters on left side of (–) is related
to the letters on the right side of (–) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Ans 1. WKD – VIA

2. VQR – UNP

3. GUN – FSK

4. MAT – LYQ

Question ID : 630680387211

Option 1 ID : 6306801509540

Option 2 ID : 6306801509539

Option 3 ID : 6306801509541

Option 4 ID : 6306801509538

Status : Answered

Chosen Option : 2
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Section : General Intelligence and reasoning



Q.3 Seven boxes P, Q, R, S, T, U and V are placed one above the other. Only two boxes are placed
above box S. Only one box is placed between box V and S. As many as boxes are placed
between box V and T as between box T and P. Three boxes are placed between box Q and R.
Q is placed above R. How many boxes are in between R and V?

Ans 1. 2

2. 1

3. 4

4. 3

Question ID : 630680387207

Option 1 ID : 6306801509522

Option 2 ID : 6306801509524

Option 3 ID : 6306801509523

Option 4 ID : 6306801509525

Status : Answered

Chosen Option : 1

Q.4 In the following question, select the missing number from the given series.
50, 24, 23, 33.5, 66, ?

Ans 1. 150

2. 154

3. 160

4. 164

Question ID : 630680387214

Option 1 ID : 6306801509550

Option 2 ID : 6306801509551

Option 3 ID : 6306801509552

Option 4 ID : 6306801509553

Status : Answered

Chosen Option : 2

Q.5 A is the mother of B. B is the father of C. C is the sister of D. D is the brother of E. How is A
related to D?

Ans 1. Mother

2. Grandmother

3. Aunt

4. Sister

Question ID : 630680387209

Option 1 ID : 6306801509530

Option 2 ID : 6306801509532

Option 3 ID : 6306801509531

Option 4 ID : 6306801509533

Status : Answered

Chosen Option : 2



Q.6 In the following question, select the related letters from the given alternatives.
KX : MZ :: LY : ?

Ans 1. ZY

2. NA

3. UT

4. AN

Question ID : 630680387210

Option 1 ID : 6306801509537

Option 2 ID : 6306801509536

Option 3 ID : 6306801509535

Option 4 ID : 6306801509534

Status : Answered

Chosen Option : 2

Q.7 In the following question, select the figure which can be placed at the sign of question mark
(?) from the given alternatives.

Ans

1. 

2. 

3. 

4. 

Question ID : 630680387213

Option 1 ID : 6306801509549

Option 2 ID : 6306801509546

Option 3 ID : 6306801509547

Option 4 ID : 6306801509548

Status : Answered

Chosen Option : 2

Q.8 एक अनुक्रम दिया गया है, जिसमें  से एक पद लुप्त है। दिए गए विकल्पों में  से वह सही विकल्प चुनिए, जो
अनुक्रम को पूरा करे।
NT, QK, HN, KE, ?

Ans 1. BH

2. BZ

3. OC

4. BX

Question ID : 630680387212

Option 1 ID : 6306801509544

Option 2 ID : 6306801509543

Option 3 ID : 6306801509542

Option 4 ID : 6306801509545

Status : Answered

Chosen Option : 1



Q.9 किन दो संख्याओं को आपस में  परस्पर बदलने पर समीकरण सही हो जाएगा?
7 – 3 × 2 ÷ 6 + 4 = 7

Ans 1. 7 तथा 4

2. 2 तथा 3

3. 3 तथा 4

4. 6 तथा 3

Question ID : 630680387215

Option 1 ID : 6306801509556

Option 2 ID : 6306801509554

Option 3 ID : 6306801509555

Option 4 ID : 6306801509557

Status : Answered

Chosen Option : 1

Q.10

Ans 1. Both I and II

2. Neither I nor II

3. Only II

4. Only I

Question ID : 630680387216

Option 1 ID : 6306801509560

Option 2 ID : 6306801509561

Option 3 ID : 6306801509559

Option 4 ID : 6306801509558

Status : Answered

Chosen Option : 2

Q.1 खारची (ख्या) के  नाम से प्रसिद्द 14 देवी-देवताओं की पूजा किस राज्य में  की जाती है?

Ans 1. मिजोरम

2. मेघालय

3. नागालैं ड

4. त्रिपुरा

Question ID : 630680387223

Option 1 ID : 6306801509586

Option 2 ID : 6306801509587

Option 3 ID : 6306801509589

Option 4 ID : 6306801509588

Status : Answered

Chosen Option : 1

Section : General Awareness



Q.2 Which of the following statements is correct about UJALA Scheme?
I. It was launched on 5th January, 2015 to provide energy efficient LED bulbs to domestic
consumers at an affordable price.
II. It is also known as “Prakash Path”.

Ans 1. Only I

2. Both I and II

3. Only II

4. Neither I nor II

Question ID : 630680387218

Option 1 ID : 6306801509566

Option 2 ID : 6306801509568

Option 3 ID : 6306801509567

Option 4 ID : 6306801509569

Status : Answered

Chosen Option : 2

Q.3 What is India’s place in the WEF Global Gender Gap Report, 2022?

Ans 1. 127

2. 135

3. 132

4. 142

Question ID : 630680387219

Option 1 ID : 6306801509570

Option 2 ID : 6306801509572

Option 3 ID : 6306801509571

Option 4 ID : 6306801509573

Status : Answered

Chosen Option : 1

Q.4 भारतीय संविधान के  ‘भाग I’ में  निम्नलिखित में  से किस अनुच्छेद का उल्लेख है?

Ans 1. कानून के  समक्ष समानता

2. संविधान के  प्रारंभ में  नागरिकता

3. नए राज्यों का प्रवेश या स्थापना

4. पाकिस्तान जाने वाले कु छ प्रवासियों के  नागरिकता के  अधिकार

Question ID : 630680387226

Option 1 ID : 6306801509601

Option 2 ID : 6306801509599

Option 3 ID : 6306801509598

Option 4 ID : 6306801509600

Status : Answered

Chosen Option : 3

Q.5 भारत का तीसरा चंद्रमा मिशन, चंद्रयान-3 ______ को सफलतापूर्वक लॉन्च किया गया था।

Ans 1. 14 जुलाई 2023

2. 16 जुलाई 2023

3. 18 जुलाई 2023

4. 12 जुलाई 2023

Question ID : 630680387220

Option 1 ID : 6306801509575

Option 2 ID : 6306801509576

Option 3 ID : 6306801509577

Option 4 ID : 6306801509574

Status : Answered

Chosen Option : 1



Q.6 निम्नलिखित में  से कौन सी रियासत 'विलय नीति' के  सिद्धांत के  आधार पर अंग्रे ज़ों के  हाथ में  चली गई?

I. झाँसी
II. मैसूर
III. सतारा

Ans 1. I, II तथा II

2. के वल I तथा II

3. के वल II तथा III

4. के वल I तथा III

Question ID : 630680387222

Option 1 ID : 6306801509585

Option 2 ID : 6306801509582

Option 3 ID : 6306801509583

Option 4 ID : 6306801509584

Status : Answered

Chosen Option : 2

Q.7 2011 की जनगणना के  अनुसार, 2001-2011 के  दशक में  भारत की जनसंख्या की वृद्धि दर क्या थी?

Ans 1. 13.6 प्रतिशत

2. 21.4 प्रतिशत

3. 17.7 प्रतिशत

4. 11.3 प्रतिशत

Question ID : 630680387225

Option 1 ID : 6306801509595

Option 2 ID : 6306801509597

Option 3 ID : 6306801509596

Option 4 ID : 6306801509594

Status : Answered

Chosen Option : 2

Q.8 Which of the following is not an economic activity?

Ans 1. Cooking at home

2. Transforming tea leaves

3. Tea brewing at restaurant

4. Transformation of raw cotton to yarn

Question ID : 630680387221

Option 1 ID : 6306801509578

Option 2 ID : 6306801509579

Option 3 ID : 6306801509580

Option 4 ID : 6306801509581

Status : Answered

Chosen Option : 1



Q.9 गिर जंगल के  संदर्भ में  निम्नलिखित में  से कौन सा कथन सही है?
I.यह भारत के  छत्तीसगढ़ राज्य में  स्थित है।
II.एशियाई शेर के वल इसी जंगल में  पाए जाते हैं ।

Ans 1. ना ही I ना ही II

2. के वल II

3. के वल I

4. I तथा II दोनों

Question ID : 630680387224

Option 1 ID : 6306801509593

Option 2 ID : 6306801509591

Option 3 ID : 6306801509590

Option 4 ID : 6306801509592

Status : Answered

Chosen Option : 1

Q.10 In which country, the final match of the Asian Champions Trophy 2023 was organised?

Ans 1. India

2. Japan

3. Bangladesh

4. Malaysia

Question ID : 630680387217

Option 1 ID : 6306801509563

Option 2 ID : 6306801509564

Option 3 ID : 6306801509565

Option 4 ID : 6306801509562

Status : Answered

Chosen Option : 1

Q.1 S1, S2 and S3 can complete a work in 12 days, 18 days and 24 days respectively. They
received Rs. 1260 to complete the work. They begin the work together but S1 leaves the
work after 3 days of starting and S3 leaves the work 7 days before the completion of the
work. What is the share of S3 from the total money?

Ans 1. Rs. 175

2. Rs. 180

3. Rs. 215

4. Rs. 195

Question ID : 630680387236

Option 1 ID : 6306801509640

Option 2 ID : 6306801509639

Option 3 ID : 6306801509638

Option 4 ID : 6306801509641

Status : Answered

Chosen Option : 1

Section : Numerical Aptitude



Q.2 If price is decreased by 10 percent, then by how much percentage consumption should be
increased, so that the expenditure remains the same?

Ans 1. 1.11 percent

2. 11 percent

3. 33.33 percent

4. 11.11 percent

Question ID : 630680387230

Option 1 ID : 6306801509614

Option 2 ID : 6306801509615

Option 3 ID : 6306801509617

Option 4 ID : 6306801509616

Status : Answered

Chosen Option : 4

Q.3 U sells a watch to V at the profit of 10 percent and V sells it to W at a loss of 20 percent. If W
pays Rs. 2200 for the watch, then what is the cost price of watch for U?

Ans 1. Rs. 2500

2. Rs. 2200

3. Rs. 2400

4. Rs. 3600

Question ID : 630680387232

Option 1 ID : 6306801509623

Option 2 ID : 6306801509624

Option 3 ID : 6306801509625

Option 4 ID : 6306801509622

Status : Answered

Chosen Option : 1

Q.4 In how much time will a sum of Rs. 4500 amounts to Rs. 6480 at the rate of 4 percent per
annum at simple interest?

Ans 1. 12 years

2. 10 years

3. 11 years

4. 15 years

Question ID : 630680387234

Option 1 ID : 6306801509632

Option 2 ID : 6306801509631

Option 3 ID : 6306801509630

Option 4 ID : 6306801509633

Status : Answered

Chosen Option : 3

Q.5 तीन क्रमागत विषम संख्याओं का योग 75 है। तीनों संख्याओं में  सबसे छोटी संख्या कौन सी है?

Ans 1. 11

2. 23

3. 13

4. 17

Question ID : 630680387227

Option 1 ID : 6306801509605

Option 2 ID : 6306801509602

Option 3 ID : 6306801509604

Option 4 ID : 6306801509603

Status : Answered

Chosen Option : 2



Q.6 Rahul starts his journey from point Q at 1 p.m. He drives the car at the speed of 42 km/hr
for first three hours and complete the remaining journey at the speed of 27 km/hr. If Rohit
starts moving towards Rahul at 6 p.m. from point Q at the speed of 57 km/hr, then at what
time he will catch Rahul?

Ans 1. 12:00 am

2. 11:30 pm

3. 1:00 am

4. 10:30 pm

Question ID : 630680387235

Option 1 ID : 6306801509636

Option 2 ID : 6306801509634

Option 3 ID : 6306801509635

Option 4 ID : 6306801509637

Status : Answered

Chosen Option : 1

Q.7 A new student having weight 51 kg join a class of 45 students and the average weight of the
class reduces by 1 kg. What is the new average weight of the class?

Ans 1. 99 kg

2. 97 kg

3. 96 kg

4. 97.5 kg

Question ID : 630680387229

Option 1 ID : 6306801509613

Option 2 ID : 6306801509610

Option 3 ID : 6306801509611

Option 4 ID : 6306801509612

Status : Answered

Chosen Option : 1

Q.8 What is the value of 25 × 46 ÷ 8 × 9 ÷ 75 × 44 ÷ 3 × 15 – 72 ÷ 16 × 15 ÷ 3 × 6 ÷ 18 × 64?

Ans 1. 3215

2. 3415

3. 3315

4. 3115

Question ID : 630680387228

Option 1 ID : 6306801509606

Option 2 ID : 6306801509609

Option 3 ID : 6306801509608

Option 4 ID : 6306801509607

Status : Answered

Chosen Option : 1



Q.9 The sum of three numbers is 102. If the ratio of the first number to the second number is 3 :
5 and that of the second number to the third number is 3 : 2, then what is the second
number?

Ans 1. 27

2. 55

3. 30

4. 45

Question ID : 630680387233

Option 1 ID : 6306801509626

Option 2 ID : 6306801509629

Option 3 ID : 6306801509627

Option 4 ID : 6306801509628

Status : Answered

Chosen Option : 4

Q.10 The price of a commodity is decreased by 25 percent and therefore a household increased
the consumption of that commodity by 10 kg to keep the expenditure same. What was the
earlier consumption?

Ans 1. 30 kg

2. 15 kg

3. 60 kg

4. 45 kg

Question ID : 630680387231

Option 1 ID : 6306801509618

Option 2 ID : 6306801509620

Option 3 ID : 6306801509621

Option 4 ID : 6306801509619

Status : Answered

Chosen Option : 1

Section : English Comprehension



Comprehension:

Read the following information carefully and answer the given questions.

Japan’s famous cherry blossoms have reached their flowery peak in many places earlier this
year (2021) than at any time since formal records started being kept nearly 70 years ago, with
experts saying climate change is the likely cause.
Japan’s favourite flower, called “sakura,” used to reach their peak bloom in April, just as the
country celebrates the start of its new school and business year. Yet that date has been
creeping earlier and now most years the blossoms are largely gone before the first day of
school.
This year peak bloom was reached on March 26 in the ancient capital of Kyoto, the earliest
since the Japan Meteorological Agency started collecting the data in 1953 and 10 days ahead
of the 30-year average. Similar records were set this year in more than a dozen cities across
Japan.
Some say it is the earliest peak bloom ever based on records from historic documents, diaries
and poetry books from Kyoto. Osaka Prefecture University environmental scientist Yasuyuki
Aono, who tracks such documents, said the earliest blooms he has found before this year
were March 27 in the years 1612, 1409 and 1236, though there are not records for some
years.
“We can say it’s most likely because of the impact of the global warming,” said Shunji Anbe,
an official at the observations division at the Japan Meteorological Agency.
The agency tracks 58 “benchmark” cherry trees across the country, and this year 40 of those
already have reached their peak bloom and 14 have done so in record time. The trees
normally bloom for about two weeks each year from first bud to all the blossoms falling off.
Cherry trees are sensitive to temperature changes and the timing of their blooming can
provide valuable data for climate change studies, Anbe said.

SubQuestion No : 1

Q.1 According to the given passage, which of the following statements is NOT correct?

Ans 1. The timing of cherry blossom can provide valuable data for climate change.

2. Yasuyuki Aono found the evidence of earliest blooms in the four different years.

3. More than one city across Japan experienced early bloom of cherry blossoms.

4. The Japan Meteorological Agency started collecting the data on cherry blossoms in
1963.

Question ID : 630680387240

Option 1 ID : 6306801509653

Option 2 ID : 6306801509652

Option 3 ID : 6306801509651

Option 4 ID : 6306801509650

Status : Answered

Chosen Option : 4



Comprehension:

Read the following information carefully and answer the given questions.

Japan’s famous cherry blossoms have reached their flowery peak in many places earlier this
year (2021) than at any time since formal records started being kept nearly 70 years ago, with
experts saying climate change is the likely cause.
Japan’s favourite flower, called “sakura,” used to reach their peak bloom in April, just as the
country celebrates the start of its new school and business year. Yet that date has been
creeping earlier and now most years the blossoms are largely gone before the first day of
school.
This year peak bloom was reached on March 26 in the ancient capital of Kyoto, the earliest
since the Japan Meteorological Agency started collecting the data in 1953 and 10 days ahead
of the 30-year average. Similar records were set this year in more than a dozen cities across
Japan.
Some say it is the earliest peak bloom ever based on records from historic documents, diaries
and poetry books from Kyoto. Osaka Prefecture University environmental scientist Yasuyuki
Aono, who tracks such documents, said the earliest blooms he has found before this year
were March 27 in the years 1612, 1409 and 1236, though there are not records for some
years.
“We can say it’s most likely because of the impact of the global warming,” said Shunji Anbe,
an official at the observations division at the Japan Meteorological Agency.
The agency tracks 58 “benchmark” cherry trees across the country, and this year 40 of those
already have reached their peak bloom and 14 have done so in record time. The trees
normally bloom for about two weeks each year from first bud to all the blossoms falling off.
Cherry trees are sensitive to temperature changes and the timing of their blooming can
provide valuable data for climate change studies, Anbe said.

SubQuestion No : 2

Q.2 Japan celebrates the start of its new school and business year in

Ans 1. March

2. April

3. January

4. June

Question ID : 630680387239

Option 1 ID : 6306801509648

Option 2 ID : 6306801509649

Option 3 ID : 6306801509647

Option 4 ID : 6306801509646

Status : Answered

Chosen Option : 2



Comprehension:

Read the following information carefully and answer the given questions.

Japan’s famous cherry blossoms have reached their flowery peak in many places earlier this
year (2021) than at any time since formal records started being kept nearly 70 years ago, with
experts saying climate change is the likely cause.
Japan’s favourite flower, called “sakura,” used to reach their peak bloom in April, just as the
country celebrates the start of its new school and business year. Yet that date has been
creeping earlier and now most years the blossoms are largely gone before the first day of
school.
This year peak bloom was reached on March 26 in the ancient capital of Kyoto, the earliest
since the Japan Meteorological Agency started collecting the data in 1953 and 10 days ahead
of the 30-year average. Similar records were set this year in more than a dozen cities across
Japan.
Some say it is the earliest peak bloom ever based on records from historic documents, diaries
and poetry books from Kyoto. Osaka Prefecture University environmental scientist Yasuyuki
Aono, who tracks such documents, said the earliest blooms he has found before this year
were March 27 in the years 1612, 1409 and 1236, though there are not records for some
years.
“We can say it’s most likely because of the impact of the global warming,” said Shunji Anbe,
an official at the observations division at the Japan Meteorological Agency.
The agency tracks 58 “benchmark” cherry trees across the country, and this year 40 of those
already have reached their peak bloom and 14 have done so in record time. The trees
normally bloom for about two weeks each year from first bud to all the blossoms falling off.
Cherry trees are sensitive to temperature changes and the timing of their blooming can
provide valuable data for climate change studies, Anbe said.

SubQuestion No : 3

Q.3 Which of the following words is similar in meaning to the word ‘sensitive’ as used in the
passage?

Ans 1. Inured

2. Stoic

3. Vulnerable

4. Painless

Question ID : 630680387242

Option 1 ID : 6306801509660

Option 2 ID : 6306801509658

Option 3 ID : 6306801509659

Option 4 ID : 6306801509661

Status : Answered

Chosen Option : 1



Comprehension:

Read the following information carefully and answer the given questions.

Japan’s famous cherry blossoms have reached their flowery peak in many places earlier this
year (2021) than at any time since formal records started being kept nearly 70 years ago, with
experts saying climate change is the likely cause.
Japan’s favourite flower, called “sakura,” used to reach their peak bloom in April, just as the
country celebrates the start of its new school and business year. Yet that date has been
creeping earlier and now most years the blossoms are largely gone before the first day of
school.
This year peak bloom was reached on March 26 in the ancient capital of Kyoto, the earliest
since the Japan Meteorological Agency started collecting the data in 1953 and 10 days ahead
of the 30-year average. Similar records were set this year in more than a dozen cities across
Japan.
Some say it is the earliest peak bloom ever based on records from historic documents, diaries
and poetry books from Kyoto. Osaka Prefecture University environmental scientist Yasuyuki
Aono, who tracks such documents, said the earliest blooms he has found before this year
were March 27 in the years 1612, 1409 and 1236, though there are not records for some
years.
“We can say it’s most likely because of the impact of the global warming,” said Shunji Anbe,
an official at the observations division at the Japan Meteorological Agency.
The agency tracks 58 “benchmark” cherry trees across the country, and this year 40 of those
already have reached their peak bloom and 14 have done so in record time. The trees
normally bloom for about two weeks each year from first bud to all the blossoms falling off.
Cherry trees are sensitive to temperature changes and the timing of their blooming can
provide valuable data for climate change studies, Anbe said.

SubQuestion No : 4

Q.4 The given passage mainly talks about _____.

Ans 1. season of cherry blossom in Japan and its importance

2. the observations of Japan Meteorological agency regarding global warming

3. early bloom of Japan’s famous cherry blossoms due to climate change

4. Japan’s favourite flower ‘sakura’ and its timing

Question ID : 630680387238

Option 1 ID : 6306801509644

Option 2 ID : 6306801509645

Option 3 ID : 6306801509643

Option 4 ID : 6306801509642

Status : Answered

Chosen Option : 2



Comprehension:

Read the following information carefully and answer the given questions.

Japan’s famous cherry blossoms have reached their flowery peak in many places earlier this
year (2021) than at any time since formal records started being kept nearly 70 years ago, with
experts saying climate change is the likely cause.
Japan’s favourite flower, called “sakura,” used to reach their peak bloom in April, just as the
country celebrates the start of its new school and business year. Yet that date has been
creeping earlier and now most years the blossoms are largely gone before the first day of
school.
This year peak bloom was reached on March 26 in the ancient capital of Kyoto, the earliest
since the Japan Meteorological Agency started collecting the data in 1953 and 10 days ahead
of the 30-year average. Similar records were set this year in more than a dozen cities across
Japan.
Some say it is the earliest peak bloom ever based on records from historic documents, diaries
and poetry books from Kyoto. Osaka Prefecture University environmental scientist Yasuyuki
Aono, who tracks such documents, said the earliest blooms he has found before this year
were March 27 in the years 1612, 1409 and 1236, though there are not records for some
years.
“We can say it’s most likely because of the impact of the global warming,” said Shunji Anbe,
an official at the observations division at the Japan Meteorological Agency.
The agency tracks 58 “benchmark” cherry trees across the country, and this year 40 of those
already have reached their peak bloom and 14 have done so in record time. The trees
normally bloom for about two weeks each year from first bud to all the blossoms falling off.
Cherry trees are sensitive to temperature changes and the timing of their blooming can
provide valuable data for climate change studies, Anbe said.

SubQuestion No : 5

Q.5 As per the Japan Meteorological Agency, how many cherry trees bloomed in their record
time in 2021

Ans 1. 27

2. 40

3. 14

4. 58

Question ID : 630680387241

Option 1 ID : 6306801509657

Option 2 ID : 6306801509655

Option 3 ID : 6306801509654

Option 4 ID : 6306801509656

Status : Answered

Chosen Option : 2

Section : Hindi Comprehension



Comprehension:

एक गद्यांश दिया गया है। गद्यांश के  आधार पर पाँच प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें  तथा प्रत्येक प्रश्न के  चार
विकल्पों में  से सही विकल्प चुने।
विश्व में  भारत ही एक ऐसा देश है, जिसमें  छ: प्रकार की ऋतुएँ आती है। इसलिए यहाँ का वातावरण बहुत मनोहारी है। यहाँ
ना तो ठंडी में  अन्य देशों के  समान अत्यधिक ठंड और ना ही गर्मी में  असह्य गर्मी पड़ती है। इसलिए हमारा देश शैलानियों
को अपनी ओर आकर्षि त करता है। भारत ना के वल भौगोलिक दृष्टि से विशाल और विस्तृत है। बल्कि वह अपनी विभिन्न
प्राकृ तिक सुंदरता के  कारण भी बहुत बड़ा देश है। भारत की प्राकृ तिक सुंदरता सचमुच में  निराली और अद्भुत है।
हमारे देश की सभ्यता और संस्कृ ति में  विविधता है। यहाँ हर प्रकार की जातियाँ, धर्म, रिवाज, आचरण, दर्शन, साहित्य, पर्व-
त्यौहार आदि सब कु छ एक दूसरे से भिन्न होते हुए भी एक जैसे दिखाई देते हैं । ये सभी वास्तव में  दर्शनीय और आकर्षक हैं।
हमारा देश अपने प्राकृ तिक सौंदर्य के  कारण सबके  आकर्षण का कें द्र रहा है। यह उत्तर में  कश्मीर और दक्षिण में
कन्याकु मारी तक फै ला हुआ है। पूरब में  मिजोरम, नागालैं ड और पश्चिम में  गुजरात तक फै ला हुआ है। अपनी सौंदर्य छवि से
यह सभी को अपनी ओर आकर्षि त करता है। इसके  उत्तर में  विश्व की सबसे ऊँ ची श्रे णियों वाला पर्वत हिमालय, भारत के
प्रहरी के  रूप में  स्थित है। इसकी बर्फ  की चोटियों को देखकर ऐसा लगता है कि मानो हमारे देश ने सफे द मुकु ट धारण कर
लिया हो। यहाँ बहने वाली गंगा, यमुना, ब्रह्मपुत्र, सिं धु जैसी नदियाँ इस देश के  गले में  पड़ी हुई मोतियों की माला के  समान
शोभा को बढ़ाती हैं । भारत में  कई सारे ऐतिहासिक स्मारक भी हैं जो लोगों को अपनी ओर आकर्षि त करते हैं । इस तरह
हमारा भारत देश विभिन्न प्रकार के  दर्शनीय स्थलों का महाकें द्र होने के  कारण विश्व का सबसे अनूठा राष्ट्र है।

SubQuestion No : 1

Q.1 ‘मोतियों की माला’ किसके  सन्दर्भ में  उपयोग हुआ है?

Ans 1. नदियों के

2. पर्वतों के

3. संस्कृ तियों के

4. सागरों के

Question ID : 630680387245

Option 1 ID : 6306801509668

Option 2 ID : 6306801509666

Option 3 ID : 6306801509669

Option 4 ID : 6306801509667

Status : Answered

Chosen Option : 1

Comprehension:

एक गद्यांश दिया गया है। गद्यांश के  आधार पर पाँच प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें  तथा प्रत्येक प्रश्न के  चार
विकल्पों में  से सही विकल्प चुने।
विश्व में  भारत ही एक ऐसा देश है, जिसमें  छ: प्रकार की ऋतुएँ आती है। इसलिए यहाँ का वातावरण बहुत मनोहारी है। यहाँ
ना तो ठंडी में  अन्य देशों के  समान अत्यधिक ठंड और ना ही गर्मी में  असह्य गर्मी पड़ती है। इसलिए हमारा देश शैलानियों
को अपनी ओर आकर्षि त करता है। भारत ना के वल भौगोलिक दृष्टि से विशाल और विस्तृत है। बल्कि वह अपनी विभिन्न
प्राकृ तिक सुंदरता के  कारण भी बहुत बड़ा देश है। भारत की प्राकृ तिक सुंदरता सचमुच में  निराली और अद्भुत है।
हमारे देश की सभ्यता और संस्कृ ति में  विविधता है। यहाँ हर प्रकार की जातियाँ, धर्म, रिवाज, आचरण, दर्शन, साहित्य, पर्व-
त्यौहार आदि सब कु छ एक दूसरे से भिन्न होते हुए भी एक जैसे दिखाई देते हैं । ये सभी वास्तव में  दर्शनीय और आकर्षक हैं।
हमारा देश अपने प्राकृ तिक सौंदर्य के  कारण सबके  आकर्षण का कें द्र रहा है। यह उत्तर में  कश्मीर और दक्षिण में
कन्याकु मारी तक फै ला हुआ है। पूरब में  मिजोरम, नागालैं ड और पश्चिम में  गुजरात तक फै ला हुआ है। अपनी सौंदर्य छवि से
यह सभी को अपनी ओर आकर्षि त करता है। इसके  उत्तर में  विश्व की सबसे ऊँ ची श्रे णियों वाला पर्वत हिमालय, भारत के
प्रहरी के  रूप में  स्थित है। इसकी बर्फ  की चोटियों को देखकर ऐसा लगता है कि मानो हमारे देश ने सफे द मुकु ट धारण कर
लिया हो। यहाँ बहने वाली गंगा, यमुना, ब्रह्मपुत्र, सिं धु जैसी नदियाँ इस देश के  गले में  पड़ी हुई मोतियों की माला के  समान
शोभा को बढ़ाती हैं । भारत में  कई सारे ऐतिहासिक स्मारक भी हैं जो लोगों को अपनी ओर आकर्षि त करते हैं । इस तरह
हमारा भारत देश विभिन्न प्रकार के  दर्शनीय स्थलों का महाकें द्र होने के  कारण विश्व का सबसे अनूठा राष्ट्र है।

SubQuestion No : 2

Q.2 दिए गए अपठित गद्यांश का उपयुक्त शीर्षक क्या होगा?

Ans 1. भौगोलिक दृष्टि

2. भारत का सौन्दर्य

3. शास्त्र सौंदर्य

4. संस्कृ ति में  विविधता

Question ID : 630680387244

Option 1 ID : 6306801509665

Option 2 ID : 6306801509662

Option 3 ID : 6306801509663

Option 4 ID : 6306801509664

Status : Answered

Chosen Option : 2



Comprehension:

एक गद्यांश दिया गया है। गद्यांश के  आधार पर पाँच प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें  तथा प्रत्येक प्रश्न के  चार
विकल्पों में  से सही विकल्प चुने।
विश्व में  भारत ही एक ऐसा देश है, जिसमें  छ: प्रकार की ऋतुएँ आती है। इसलिए यहाँ का वातावरण बहुत मनोहारी है। यहाँ
ना तो ठंडी में  अन्य देशों के  समान अत्यधिक ठंड और ना ही गर्मी में  असह्य गर्मी पड़ती है। इसलिए हमारा देश शैलानियों
को अपनी ओर आकर्षि त करता है। भारत ना के वल भौगोलिक दृष्टि से विशाल और विस्तृत है। बल्कि वह अपनी विभिन्न
प्राकृ तिक सुंदरता के  कारण भी बहुत बड़ा देश है। भारत की प्राकृ तिक सुंदरता सचमुच में  निराली और अद्भुत है।
हमारे देश की सभ्यता और संस्कृ ति में  विविधता है। यहाँ हर प्रकार की जातियाँ, धर्म, रिवाज, आचरण, दर्शन, साहित्य, पर्व-
त्यौहार आदि सब कु छ एक दूसरे से भिन्न होते हुए भी एक जैसे दिखाई देते हैं । ये सभी वास्तव में  दर्शनीय और आकर्षक हैं।
हमारा देश अपने प्राकृ तिक सौंदर्य के  कारण सबके  आकर्षण का कें द्र रहा है। यह उत्तर में  कश्मीर और दक्षिण में
कन्याकु मारी तक फै ला हुआ है। पूरब में  मिजोरम, नागालैं ड और पश्चिम में  गुजरात तक फै ला हुआ है। अपनी सौंदर्य छवि से
यह सभी को अपनी ओर आकर्षि त करता है। इसके  उत्तर में  विश्व की सबसे ऊँ ची श्रे णियों वाला पर्वत हिमालय, भारत के
प्रहरी के  रूप में  स्थित है। इसकी बर्फ  की चोटियों को देखकर ऐसा लगता है कि मानो हमारे देश ने सफे द मुकु ट धारण कर
लिया हो। यहाँ बहने वाली गंगा, यमुना, ब्रह्मपुत्र, सिं धु जैसी नदियाँ इस देश के  गले में  पड़ी हुई मोतियों की माला के  समान
शोभा को बढ़ाती हैं । भारत में  कई सारे ऐतिहासिक स्मारक भी हैं जो लोगों को अपनी ओर आकर्षि त करते हैं । इस तरह
हमारा भारत देश विभिन्न प्रकार के  दर्शनीय स्थलों का महाकें द्र होने के  कारण विश्व का सबसे अनूठा राष्ट्र है।

SubQuestion No : 3

Q.3 भारत की प्राकृ तिक सुंदरता ______ और ______ है।

Ans 1. निराली, अद्भुत

2. गर्म, अद्भुत

3. निराली, अभिषाप

4. आकर्षि त, अपवित्र

Question ID : 630680387248

Option 1 ID : 6306801509681

Option 2 ID : 6306801509679

Option 3 ID : 6306801509678

Option 4 ID : 6306801509680

Status : Answered

Chosen Option : 1

Comprehension:

एक गद्यांश दिया गया है। गद्यांश के  आधार पर पाँच प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें  तथा प्रत्येक प्रश्न के  चार
विकल्पों में  से सही विकल्प चुने।
विश्व में  भारत ही एक ऐसा देश है, जिसमें  छ: प्रकार की ऋतुएँ आती है। इसलिए यहाँ का वातावरण बहुत मनोहारी है। यहाँ
ना तो ठंडी में  अन्य देशों के  समान अत्यधिक ठंड और ना ही गर्मी में  असह्य गर्मी पड़ती है। इसलिए हमारा देश शैलानियों
को अपनी ओर आकर्षि त करता है। भारत ना के वल भौगोलिक दृष्टि से विशाल और विस्तृत है। बल्कि वह अपनी विभिन्न
प्राकृ तिक सुंदरता के  कारण भी बहुत बड़ा देश है। भारत की प्राकृ तिक सुंदरता सचमुच में  निराली और अद्भुत है।
हमारे देश की सभ्यता और संस्कृ ति में  विविधता है। यहाँ हर प्रकार की जातियाँ, धर्म, रिवाज, आचरण, दर्शन, साहित्य, पर्व-
त्यौहार आदि सब कु छ एक दूसरे से भिन्न होते हुए भी एक जैसे दिखाई देते हैं । ये सभी वास्तव में  दर्शनीय और आकर्षक हैं।
हमारा देश अपने प्राकृ तिक सौंदर्य के  कारण सबके  आकर्षण का कें द्र रहा है। यह उत्तर में  कश्मीर और दक्षिण में
कन्याकु मारी तक फै ला हुआ है। पूरब में  मिजोरम, नागालैं ड और पश्चिम में  गुजरात तक फै ला हुआ है। अपनी सौंदर्य छवि से
यह सभी को अपनी ओर आकर्षि त करता है। इसके  उत्तर में  विश्व की सबसे ऊँ ची श्रे णियों वाला पर्वत हिमालय, भारत के
प्रहरी के  रूप में  स्थित है। इसकी बर्फ  की चोटियों को देखकर ऐसा लगता है कि मानो हमारे देश ने सफे द मुकु ट धारण कर
लिया हो। यहाँ बहने वाली गंगा, यमुना, ब्रह्मपुत्र, सिं धु जैसी नदियाँ इस देश के  गले में  पड़ी हुई मोतियों की माला के  समान
शोभा को बढ़ाती हैं । भारत में  कई सारे ऐतिहासिक स्मारक भी हैं जो लोगों को अपनी ओर आकर्षि त करते हैं । इस तरह
हमारा भारत देश विभिन्न प्रकार के  दर्शनीय स्थलों का महाकें द्र होने के  कारण विश्व का सबसे अनूठा राष्ट्र है।

SubQuestion No : 4

Q.4 भारत ______ के  कारण सभी को अपनी ओर आकर्षि त करता है।

Ans 1. प्राकृ तिक सौन्दर्य

2. गर्मी

3. अमीरी

4. सर्दी

Question ID : 630680387246

Option 1 ID : 6306801509673

Option 2 ID : 6306801509672

Option 3 ID : 6306801509670

Option 4 ID : 6306801509671

Status : Answered

Chosen Option : 1



Comprehension:

एक गद्यांश दिया गया है। गद्यांश के  आधार पर पाँच प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें  तथा प्रत्येक प्रश्न के  चार
विकल्पों में  से सही विकल्प चुने।
विश्व में  भारत ही एक ऐसा देश है, जिसमें  छ: प्रकार की ऋतुएँ आती है। इसलिए यहाँ का वातावरण बहुत मनोहारी है। यहाँ
ना तो ठंडी में  अन्य देशों के  समान अत्यधिक ठंड और ना ही गर्मी में  असह्य गर्मी पड़ती है। इसलिए हमारा देश शैलानियों
को अपनी ओर आकर्षि त करता है। भारत ना के वल भौगोलिक दृष्टि से विशाल और विस्तृत है। बल्कि वह अपनी विभिन्न
प्राकृ तिक सुंदरता के  कारण भी बहुत बड़ा देश है। भारत की प्राकृ तिक सुंदरता सचमुच में  निराली और अद्भुत है।
हमारे देश की सभ्यता और संस्कृ ति में  विविधता है। यहाँ हर प्रकार की जातियाँ, धर्म, रिवाज, आचरण, दर्शन, साहित्य, पर्व-
त्यौहार आदि सब कु छ एक दूसरे से भिन्न होते हुए भी एक जैसे दिखाई देते हैं । ये सभी वास्तव में  दर्शनीय और आकर्षक हैं।
हमारा देश अपने प्राकृ तिक सौंदर्य के  कारण सबके  आकर्षण का कें द्र रहा है। यह उत्तर में  कश्मीर और दक्षिण में
कन्याकु मारी तक फै ला हुआ है। पूरब में  मिजोरम, नागालैं ड और पश्चिम में  गुजरात तक फै ला हुआ है। अपनी सौंदर्य छवि से
यह सभी को अपनी ओर आकर्षि त करता है। इसके  उत्तर में  विश्व की सबसे ऊँ ची श्रे णियों वाला पर्वत हिमालय, भारत के
प्रहरी के  रूप में  स्थित है। इसकी बर्फ  की चोटियों को देखकर ऐसा लगता है कि मानो हमारे देश ने सफे द मुकु ट धारण कर
लिया हो। यहाँ बहने वाली गंगा, यमुना, ब्रह्मपुत्र, सिं धु जैसी नदियाँ इस देश के  गले में  पड़ी हुई मोतियों की माला के  समान
शोभा को बढ़ाती हैं । भारत में  कई सारे ऐतिहासिक स्मारक भी हैं जो लोगों को अपनी ओर आकर्षि त करते हैं । इस तरह
हमारा भारत देश विभिन्न प्रकार के  दर्शनीय स्थलों का महाकें द्र होने के  कारण विश्व का सबसे अनूठा राष्ट्र है।

SubQuestion No : 5

Q.5 भारत किस का महाकें द्र है?

Ans 1. नदियों

2. पर्वतों

3. दर्शनीय स्थलों

4. समुद्रों

Question ID : 630680387247

Option 1 ID : 6306801509675

Option 2 ID : 6306801509676

Option 3 ID : 6306801509674

Option 4 ID : 6306801509677

Status : Answered

Chosen Option : 3

Q.1 Which is a specific mixing technique used to achieve a uniform distribution of components
in a mixture, commonly used in the dairy industry?

Ans 1. Agitation

2. Homogenization

3. Incline mixing

4. Fluidized bed mixing

Question ID : 630680387288

Option 1 ID : 6306801509838

Option 2 ID : 6306801509840

Option 3 ID : 6306801509841

Option 4 ID : 6306801509839

Status : Answered

Chosen Option : 2

Section : Trade and Profession related( Pharmacist)



Q.2 Identify one of the atypical neurolopolitics antipsychotic agents?

Ans 1. Flupenthixol

2. Thioridazine

3. Sulpiride

4. Chlorpromazine

Question ID : 630680387286

Option 1 ID : 6306801509831

Option 2 ID : 6306801509832

Option 3 ID : 6306801509830

Option 4 ID : 6306801509833

Status : Answered

Chosen Option : 3

Q.3 Which drug helps reduce gastric acid secretion?

Ans 1. Sucralfate

2. Clarithromycin

3. Cimetidine

4. Magnesium hydroxide

Question ID : 630680387291

Option 1 ID : 6306801509853

Option 2 ID : 6306801509852

Option 3 ID : 6306801509851

Option 4 ID : 6306801509850

Status : Answered

Chosen Option : 4

Q.4 ______ deals with the proper selection and use of drugs for the prevention and treatment of
disease.

Ans 1. Pharmacokinetics

2. Pharmacodynamics

3. Pharmacopoeia

4. Pharmacotherapeutics

Question ID : 630680387251

Option 1 ID : 6306801509692

Option 2 ID : 6306801509691

Option 3 ID : 6306801509690

Option 4 ID : 6306801509693

Status : Answered

Chosen Option : 4

Q.5 Which buffer contains boric acid, potassium chloride and sodium hydroxide?

Ans 1. Phosphate buffer

2. Acid phthalate buffer

3. Alkaline borate buffer

4. Acetate Buffer

Question ID : 630680387297

Option 1 ID : 6306801509875

Option 2 ID : 6306801509874

Option 3 ID : 6306801509876

Option 4 ID : 6306801509877

Status : Answered

Chosen Option : 1



Q.6 Which solution have an osmotic pressure lower than that of 0.9% w/v sodium chloride?

Ans 1. Hypertonic solution

2. Hypotonic solution

3. Isotonic solution

4. osmotic solution

Question ID : 630680387293

Option 1 ID : 6306801509861

Option 2 ID : 6306801509860

Option 3 ID : 6306801509858

Option 4 ID : 6306801509859

Status : Answered

Chosen Option : 2

Q.7 Identify one of the strong acids?

Ans 1. CH3COOH

2. H2CO3

3. HCN

4. H2SO4

Question ID : 630680387260

Option 1 ID : 6306801509728

Option 2 ID : 6306801509729

Option 3 ID : 6306801509726

Option 4 ID : 6306801509727

Status : Answered

Chosen Option : 4

Q.8 What is the use of Safed Musli; one of the saponin glycosides?

Ans 1. Diuretic

2. General tonic

3. Nervine tonic

4. Galactogogue

Question ID : 630680387305

Option 1 ID : 6306801509909

Option 2 ID : 6306801509908

Option 3 ID : 6306801509907

Option 4 ID : 6306801509906

Status : Answered

Chosen Option : 3

Q.9 Identify an example of an external bulk dosage form?

Ans 1. Capsules

2. Ear powder

3. Pills

4. Tablets

Question ID : 630680387253

Option 1 ID : 6306801509700

Option 2 ID : 6306801509698

Option 3 ID : 6306801509699

Option 4 ID : 6306801509701

Status : Answered

Chosen Option : 2



Q.10 What is the merit of liquid form of dosage of drugs?

Ans 1. Stability and preservation are its prime advantage.

2. Dose has to be measured.

3. Storage and transportation are convenient.

4. Onset of action is quick compared to pills.

Question ID : 630680387263

Option 1 ID : 6306801509741

Option 2 ID : 6306801509738

Option 3 ID : 6306801509740

Option 4 ID : 6306801509739

Status : Answered

Chosen Option : 4

Q.11 Which of the following is an example of Hetero-polysaccharides?

Ans 1. Hyaluronic acid

2. Starch

3. Cellulose

4. Glycogen

Question ID : 630680387272

Option 1 ID : 6306801509774

Option 2 ID : 6306801509776

Option 3 ID : 6306801509775

Option 4 ID : 6306801509777

Status : Answered

Chosen Option : 1

Q.12 Protein synthesis occurs in cellular structures that exists both in prokaryotes as well as
eukaryotes called

Ans 1. Vesicles

2. Ribosomes

3. Vacuoles

4. Endoplasmic reticulum

Question ID : 630680387252

Option 1 ID : 6306801509695

Option 2 ID : 6306801509694

Option 3 ID : 6306801509696

Option 4 ID : 6306801509697

Status : Answered

Chosen Option : 2

Q.13 Which of the following antioxidant reduces halogens, melts at 50℃ while decomposes on
being heated at 100℃?

Ans 1. Hypo phosphorous acid

2. Nitrogen

3. Sodium meta bisulphite

4. Sodium Thiosulphate

Question ID : 630680387289

Option 1 ID : 6306801509842

Option 2 ID : 6306801509844

Option 3 ID : 6306801509845

Option 4 ID : 6306801509843

Status : Answered

Chosen Option : 3



Q.14 The isolation, purification and identification of active constituents are considered as

Ans 1. Morphological evaluation

2. Physical evaluation

3. Chemical evaluation

4. Microscopical evaluation

Question ID : 630680387264

Option 1 ID : 6306801509742

Option 2 ID : 6306801509745

Option 3 ID : 6306801509744

Option 4 ID : 6306801509743

Status : Answered

Chosen Option : 3

Q.15 Identify an example of secondary packing of pharmaceutical?

Ans 1. Edge protector

2. Strip packages

3. Boxes

4. Blister packages

Question ID : 630680387308

Option 1 ID : 6306801509918

Option 2 ID : 6306801509919

Option 3 ID : 6306801509920

Option 4 ID : 6306801509921

Status : Answered

Chosen Option : 1

Q.16 Which of the following disaccharides have 2β-D-glucose structure?

Ans 1. Cellobiose

2. Sucrose

3. Isomaltose

4. Maltose

Question ID : 630680387304

Option 1 ID : 6306801509903

Option 2 ID : 6306801509905

Option 3 ID : 6306801509902

Option 4 ID : 6306801509904

Status : Answered

Chosen Option : 1

Q.17 Which drugs are used orally to evacuate the bowels or to promote bowel elimination
(defecation)?

Ans 1. Drugs used to induce vomiting

2. Antidiarrhoeals

3. Laxatives and cathartics

4. Antiemetics

Question ID : 630680387296

Option 1 ID : 6306801509873

Option 2 ID : 6306801509870

Option 3 ID : 6306801509871

Option 4 ID : 6306801509872

Status : Answered

Chosen Option : 3



Q.18 Which of the following is used as an antidote for cyanide poisoning?

Ans 1. Hypro phosphorous acid

2. Sulphur dioxide

3. Sodium nitrate

4. Sodium meta bisulphite

Question ID : 630680387270

Option 1 ID : 6306801509766

Option 2 ID : 6306801509767

Option 3 ID : 6306801509769

Option 4 ID : 6306801509768

Status : Marked For Review

Chosen Option : 3

Q.19 The molecules of erythrose contain

Ans 1. 3 carbon atoms

2. 2 carbon atoms

3. 5 carbon atoms

4. 4 carbon atoms

Question ID : 630680387257

Option 1 ID : 6306801509715

Option 2 ID : 6306801509714

Option 3 ID : 6306801509717

Option 4 ID : 6306801509716

Status : Answered

Chosen Option : 4

Q.20 Which of the following is the use of aluminium phosphate?

Ans 1. Externally as dentrifice.

2. Adsorbent for bacterial toxoids.

3. As a constituent in ear drops.

4. Used in systemic acidosis.

Question ID : 630680387280

Option 1 ID : 6306801509808

Option 2 ID : 6306801509807

Option 3 ID : 6306801509809

Option 4 ID : 6306801509806

Status : Answered

Chosen Option : 1

Q.21 What is the application of silverson mixer homogenizer?

Ans 1. Grind excipients

2. Grind APIs

3. Production of ointment, gels and suspensions

4. Achieving desired rheological property

Question ID : 630680387283

Option 1 ID : 6306801509819

Option 2 ID : 6306801509818

Option 3 ID : 6306801509821

Option 4 ID : 6306801509820

Status : Answered

Chosen Option : 3



Q.22 Which is commonly used antiepileptic drug, that is also effective against different forms of
partial and generalized seizures; however, it is not effective in absence seizures?

Ans 1. Valproate

2. Carbamazepine

3. Phenytoin

4. Phenobarbitone

Question ID : 630680387281

Option 1 ID : 6306801509811

Option 2 ID : 6306801509812

Option 3 ID : 6306801509813

Option 4 ID : 6306801509810

Status : Answered

Chosen Option : 1

Q.23 What is the use of amla; one of the hydrolysable tannins?

Ans 1. Diuretic, laxative

2. Astringent, stomachic, purgative

3. Cardiotonic, hypotensive

4. Astringent for mucous membrane

Question ID : 630680387274

Option 1 ID : 6306801509784

Option 2 ID : 6306801509782

Option 3 ID : 6306801509783

Option 4 ID : 6306801509785

Status : Answered

Chosen Option : 2

Q.24 In which classification system, the drugs are arranged according to the external characters
of the plant parts or animal parts?

Ans 1. Morphological Classification

2. Pharmacological Classification

3. Alphabetical Classification

4. Taxonomical Classification

Question ID : 630680387249

Option 1 ID : 6306801509684

Option 2 ID : 6306801509685

Option 3 ID : 6306801509682

Option 4 ID : 6306801509683

Status : Answered

Chosen Option : 1

Q.25 The distribution of particles over a newly developed surface is

Ans 1. Connective mixing

2. Spread mixing

3. Shear mixing

4. Diffusive mixing

Question ID : 630680387273

Option 1 ID : 6306801509779

Option 2 ID : 6306801509778

Option 3 ID : 6306801509780

Option 4 ID : 6306801509781

Status : Answered

Chosen Option : 3



Q.26 Which of the following component of alimentary tract is suitable for administration of most
of the non-ionized and ionized drugs?

Ans 1. Stomach

2. Intestine

3. Buccal cavity

4. Rectum

Question ID : 630680387261

Option 1 ID : 6306801509732

Option 2 ID : 6306801509733

Option 3 ID : 6306801509730

Option 4 ID : 6306801509731

Status : Answered

Chosen Option : 2

Q.27 Which drug is mainly used as a uterine tonic and oxytocic?

Ans 1. Tannic acid

2. Arjuna

3. Ashoka bark

4. Bahera

Question ID : 630680387279

Option 1 ID : 6306801509805

Option 2 ID : 6306801509803

Option 3 ID : 6306801509802

Option 4 ID : 6306801509804

Status : Answered

Chosen Option : 3

Q.28 Acetylcholine and atropine antagonism at muscarinic receptors is an example of

Ans 1. Chemical antagonism

2. Physiological antagonism

3. Competitive antagonism

4. Irreversible antagonism

Question ID : 630680387271

Option 1 ID : 6306801509770

Option 2 ID : 6306801509773

Option 3 ID : 6306801509771

Option 4 ID : 6306801509772

Status : Answered

Chosen Option : 3

Q.29 One of the isothiocyanate glycosides; black mustard, is used as

Ans 1. nervine tonic.

2. stimulant expectorant.

3. demulcent sedative.

4. counter irritant.

Question ID : 630680387269

Option 1 ID : 6306801509765

Option 2 ID : 6306801509762

Option 3 ID : 6306801509763

Option 4 ID : 6306801509764

Status : Answered

Chosen Option : 2



Q.30 Identify the member of first-generation cephalosporins?

Ans 1. Proxetil

2. Cefuroxime

3. Cefotaxime

4. Cephalexin

Question ID : 630680387306

Option 1 ID : 6306801509913

Option 2 ID : 6306801509911

Option 3 ID : 6306801509912

Option 4 ID : 6306801509910

Status : Answered

Chosen Option : 4

Q.31 Which is also termed as thiamine?

Ans 1. Vitamin B1

2. Vitamin A

3. Vitamin B6

4. Vitamin B3

Question ID : 630680387295

Option 1 ID : 6306801509867

Option 2 ID : 6306801509866

Option 3 ID : 6306801509869

Option 4 ID : 6306801509868

Status : Answered

Chosen Option : 1

Q.32 Which is the dosage form for vaginal route of administration?

Ans 1. Transdermal patches, emulsion injection.

2. Ointments, emulsion foams, pessaries, sponge.

3. Creams, pastes, sprays, liniments, discs.

4. Powders, tablets, syrups, elixirs, gels.

Question ID : 630680387258

Option 1 ID : 6306801509721

Option 2 ID : 6306801509720

Option 3 ID : 6306801509719

Option 4 ID : 6306801509718

Status : Answered

Chosen Option : 2

Q.33 Which of the following is a sterile dosage form of drugs?

Ans 1. Cachets

2. Ointments

3. Aerosols

4. Eye-drops

Question ID : 630680387268

Option 1 ID : 6306801509760

Option 2 ID : 6306801509758

Option 3 ID : 6306801509761

Option 4 ID : 6306801509759

Status : Answered

Chosen Option : 4



Q.34 Identify an example of acellular crude drugs?

Ans 1. Bark

2. Roots

3. Resins

4. Leaves

Question ID : 630680387254

Option 1 ID : 6306801509702

Option 2 ID : 6306801509703

Option 3 ID : 6306801509705

Option 4 ID : 6306801509704

Status : Answered

Chosen Option : 3

Q.35 What is called to a membrane-bound organelle involved in cellular processes such as
protein transport and production?

Ans 1. Vesicles

2. Endoplasmic reticulum

3. Golgi and Dictyosomes

4. Vacuoles

Question ID : 630680387267

Option 1 ID : 6306801509757

Option 2 ID : 6306801509754

Option 3 ID : 6306801509755

Option 4 ID : 6306801509756

Status : Answered

Chosen Option : 3

Q.36 Which is a general type of absorbent used in poisoning that not only absorbs heavy metals,
but also absorbs gases like carbon monoxide, carbon dioxide etc?

Ans 1. Activated charcoal

2. Sodium phosphate

3. Magnesium sulphate

4. Copper sulphate

Question ID : 630680387265

Option 1 ID : 6306801509749

Option 2 ID : 6306801509746

Option 3 ID : 6306801509747

Option 4 ID : 6306801509748

Status : Answered

Chosen Option : 1

Q.37 What are the most important group, used as sedative and hypnotic agents?

Ans 1. Benzodiazepines

2. Barbiturates

3. β -adrenoceptor antagonists

4. 5- HT1A receptor agonist

Question ID : 630680387276

Option 1 ID : 6306801509790

Option 2 ID : 6306801509791

Option 3 ID : 6306801509792

Option 4 ID : 6306801509793

Status : Answered

Chosen Option : 1



Q.38 Which theory of acid and base is also termed as proton concept?

Ans 1. Lowry-Bronsted Theory

2. Arrhenius Theory

3. Lewis Theory

4. Maxwell’s Theory

Question ID : 630680387307

Option 1 ID : 6306801509915

Option 2 ID : 6306801509914

Option 3 ID : 6306801509916

Option 4 ID : 6306801509917

Status : Answered

Chosen Option : 1

Q.39 Which enzymes catalyze intramolecular rearrangements e.g., the interconversion of aldose
and ketone sugars?

Ans 1. Transferases

2. Hydrolases

3. Isomerases

4. Lyases

Question ID : 630680387290

Option 1 ID : 6306801509848

Option 2 ID : 6306801509849

Option 3 ID : 6306801509846

Option 4 ID : 6306801509847

Status : Answered

Chosen Option : 3

Q.40 What is the physical/chemical property of hydrochloric acid?

Ans 1. Slightly acidic to taste.

2. Freely soluble in boiling water, boiling alcohol and glycerin.

3. Gives white precipitate with silver nitrate.

4. Crystalline powder, soft to touch.

Question ID : 630680387302

Option 1 ID : 6306801509896

Option 2 ID : 6306801509897

Option 3 ID : 6306801509894

Option 4 ID : 6306801509895

Status : Answered

Chosen Option : 2

Q.41 Figure-out one of the respiratory stimulants?

Ans 1. Ammonium Carbonate N.F.

2. Sodium potassium tartrate

3. Bismuth Sub-carbonate

4. Magnesium sulphate

Question ID : 630680387275

Option 1 ID : 6306801509787

Option 2 ID : 6306801509788

Option 3 ID : 6306801509789

Option 4 ID : 6306801509786

Status : Answered

Chosen Option : 1



Q.42 Identify the active constituent of tannic acid?

Ans 1. Chebulic acid

2. Vitamin C, phyllemblin

3. Gallic acid and glucose

4. Ellagic acid and -sitosterol

Question ID : 630680387284

Option 1 ID : 6306801509822

Option 2 ID : 6306801509825

Option 3 ID : 6306801509824

Option 4 ID : 6306801509823

Status : Answered

Chosen Option : 4

Q.43 Which type of acidifiers mainly useful incase of achlorhydria or hypochlorhydria?

Ans 1. Urinary Acidifiers

2. Systemic Acidifiers

3. Gastric Acidifiers

4. Acids

Question ID : 630680387285

Option 1 ID : 6306801509826

Option 2 ID : 6306801509828

Option 3 ID : 6306801509827

Option 4 ID : 6306801509829

Status : Answered

Chosen Option : 3

Q.44 Identify the active constituent of black mustard?

Ans 1. Amygdalin

2. Sinigrin

3. Charantin

4. Prunasin

Question ID : 630680387292

Option 1 ID : 6306801509855

Option 2 ID : 6306801509857

Option 3 ID : 6306801509854

Option 4 ID : 6306801509856

Status : Answered

Chosen Option : 2

Q.45 Which of the following vitamin occurs as white needle like crystals that is also stable in air
and moderate heat?

Ans 1. Folic acid

2. Nicotinamide

3. Riboflavin

4. Thiamine

Question ID : 630680387300

Option 1 ID : 6306801509889

Option 2 ID : 6306801509886

Option 3 ID : 6306801509887

Option 4 ID : 6306801509888

Status : Answered

Chosen Option : 2



Q.46 Identify the physical/chemical property of Hypo phosphorous acid?

Ans 1. It acts as diprotic acid.

2. Clear yellowish liquid.

3. Insoluble in water and alcohol.

4. It colorizes the KMnO4 solution.

Question ID : 630680387294

Option 1 ID : 6306801509863

Option 2 ID : 6306801509862

Option 3 ID : 6306801509865

Option 4 ID : 6306801509864

Status : Answered

Chosen Option : 1

Q.47 Which of the following is an example of mast cell stabilizers?

Ans 1. Aminophylline

2. Triamcinolone

3. Cromolyn sodium

4. Predinisolone

Question ID : 630680387301

Option 1 ID : 6306801509890

Option 2 ID : 6306801509893

Option 3 ID : 6306801509892

Option 4 ID : 6306801509891

Status : Answered

Chosen Option : 3

Q.48 Cephalins is an example of _____ type of organic antioxidant.

Ans 1. Amines

2. Pyrogallol

3. Quinol

4. Benzoic acid derivatives

Question ID : 630680387250

Option 1 ID : 6306801509687

Option 2 ID : 6306801509688

Option 3 ID : 6306801509686

Option 4 ID : 6306801509689

Status : Answered

Chosen Option : 1

Q.49 What is the biological source of bitter almond?

Ans 1. Dried bark of Prunus serotina

2. Dried ripe seeds of Brassica nigra

3. Dried fruits of Fagopyrum

4. Dried ripe seeds of Prunus Amygdalus

Question ID : 630680387299

Option 1 ID : 6306801509882

Option 2 ID : 6306801509884

Option 3 ID : 6306801509885

Option 4 ID : 6306801509883

Status : Answered

Chosen Option : 4



Q.50 Which type of package is used for product that required high degree of barrier protection?

Ans 1. Bottle seal

2. Blister package

3. Strip package

4. Sealed tube

Question ID : 630680387303

Option 1 ID : 6306801509900

Option 2 ID : 6306801509899

Option 3 ID : 6306801509898

Option 4 ID : 6306801509901

Status : Answered

Chosen Option : 4

Q.51 Identify the drug obtained from synthetic source?

Ans 1. Penicillin

2. Morphine

3. Aspirin

4. Streptomycin

Question ID : 630680387256

Option 1 ID : 6306801509710

Option 2 ID : 6306801509712

Option 3 ID : 6306801509711

Option 4 ID : 6306801509713

Status : Answered

Chosen Option : 3

Q.52 C12H22O11is the chemical formula of

Ans 1. Lactose

2. Table sugar

3. Galactose

4. Fructose

Question ID : 630680387262

Option 1 ID : 6306801509734

Option 2 ID : 6306801509737

Option 3 ID : 6306801509735

Option 4 ID : 6306801509736

Status : Answered

Chosen Option : 2

Q.53 Which among the following oxidoreductases uses H2O2 as the oxidant?

Ans 1. Oxygenases

2. Dehydrogenases

3. Oxidases

4. Peroxidases

Question ID : 630680387287

Option 1 ID : 6306801509835

Option 2 ID : 6306801509834

Option 3 ID : 6306801509836

Option 4 ID : 6306801509837

Status : Marked For Review

Chosen Option : 2



Q.54 Which is a filtration theory, applicable in cases where filtration occurs primarily through size
exclusion and used in the analysis of particle size distributions?

Ans 1. Cake filtration theory

2. Flow and transport modelling

3. Colloid filtration theory

4. Sieving theory

Question ID : 630680387278

Option 1 ID : 6306801509798

Option 2 ID : 6306801509801

Option 3 ID : 6306801509799

Option 4 ID : 6306801509800

Status : Answered

Chosen Option : 1

Q.55 Which is an important type of cerebrosides?

Ans 1. Lecithine

2. Kerasin

3. Cephaline

4. Inositol

Question ID : 630680387282

Option 1 ID : 6306801509816

Option 2 ID : 6306801509814

Option 3 ID : 6306801509817

Option 4 ID : 6306801509815

Status : Answered

Chosen Option : 4

Q.56 Which is an example of basic buffer solution?

Ans 1. Ammonia

2. Calcium tri-chlorine

3. Acetic acid

4. Sodium acetate

Question ID : 630680387255

Option 1 ID : 6306801509706

Option 2 ID : 6306801509709

Option 3 ID : 6306801509707

Option 4 ID : 6306801509708

Status : Marked For Review

Chosen Option : 4

Q.57 Which adulteration is more common in case of volatile oil containing drugs like fennel,
clove, coriander, carraway etc?

Ans 1. Substitution with superficially similar inferior drugs.

2. Substitution with the synthetic chemicals.

3. Substitution with artificially manufactured drugs.

4. Substitution with exhausted drugs.

Question ID : 630680387259

Option 1 ID : 6306801509723

Option 2 ID : 6306801509725

Option 3 ID : 6306801509722

Option 4 ID : 6306801509724

Status : Answered

Chosen Option : 4



Q.58 Which of the following is a parenteral route for spinal anaesthetics?

Ans 1. Intravenous

2. Intrathecal

3. Intra-articular

4. Intraperitonial

Question ID : 630680387266

Option 1 ID : 6306801509753

Option 2 ID : 6306801509752

Option 3 ID : 6306801509750

Option 4 ID : 6306801509751

Status : Answered

Chosen Option : 2

Q.59 What will be the conversion of 1 tableful domestic measure into a metric system?

Ans 1. 120.00 ml

2. 240.00 ml

3. 60.00 ml

4. 30.00 ml

Question ID : 630680387298

Option 1 ID : 6306801509880

Option 2 ID : 6306801509881

Option 3 ID : 6306801509879

Option 4 ID : 6306801509878

Status : Answered

Chosen Option : 2

Q.60 Identify one of the saturated fatty acids?

Ans 1. Oleic

2. Linoleic

3. Propionic

4. Arachidonic

Question ID : 630680387277

Option 1 ID : 6306801509796

Option 2 ID : 6306801509794

Option 3 ID : 6306801509795

Option 4 ID : 6306801509797

Status : Answered

Chosen Option : 3




